Maths summer holidays Red 2

Solve these addition and subtraction problems:

18 + 26 = 47 - 22 = 79 + 23 = 81-11-= 56 + 31 =
91+ 8 = 93 -7 = 89 -10 = 12 + 67 = 98 -1 =
27 +72 = 47 - 21 = 88 -12 = 80+ 19 = 73 +9-=
37 +59 = 64 - 11 = 92 -4 = 59 - 44 = 80 + 11 =
76 +22 = 73 +18 = 59 + 35 = 45 -17 = 77 -23 =
85-3-= 90 - 22 = 62 - 45 = 57 -43 = 72 +3 =
0 + 100 = 88 - 10 = 81-60-= 41 + 26 = 97 -3 =
94 - 57 = 75 - 16 = 41 + 54 = 62-32-= 61 -29 =
87-12 = 84 -6 = 89 +5 = 86 -47 = 62 + 16 =
33 +28 = T4 - 21 = 93 -7 = 96 - 52 = 32+30-=




622 -21~= 183 +770 = 720-351 = 594 - 378 = 639 + 281 =
652 -183 = 237-170 = 403-23 = 101 + 107 = 416 +40 =
642 +192 = 585 + 413 = 844 - 25 = 509 -83 = 112 + 249 =
413 + 480 = 832-124 = 896 + 104 = 752 - 249 = 396 + 370 =
541 + 240 = 643 - 286 = 13+ 394 = 946 + 18 = 985 -75=
587 -401 = 456 + 186 = 685 + 245 = 240-138 = 658 - 154 =
524 + 444 = 81+399-= 119+ 273 = 562 -275= 602 - 189 =
783 -71= 215+ 225 = 356 + 422 = 177 + 467 = 919 -33 =
553 - 68 = 31+ 346= 341-194 = 357 +439 = 996 - 37 =
419 -132 = 113 + 247 = 957 -320 = 084 - 58 = 956 + 38 =




